
CE2	CORRECTION	Lundi	25	mai
	
Orthographe	:	
Exercice	2	p108	:	
	

a) La	ficelle	 le	message	 la	pelle		 un	terrain	
b) L’effectif	 l’erreur	 l’annuaire	 une	allergie	
c) Un	effort	 le	tonnerre	 l’ennemi	 une	affirmation	

	
Nombres	:	
Exercice	1	p34	:	
9	413=	9	000	+	400	+	10	+	3	=	(9	x	1	000)	+	(4	x	100)	+	(1	x	10)	+	3	
79	026=	70	000	+	9	000	+	20	+	6	=	(7	x	10	000)	+	(9	x	1	000)	+	(2	x	10)	+	6	
207	429=	200	000	+	7	000	+	400	+	20	+	9	=	(2	x	100	000)	(7	x	1	000)	+	(4	x	100)	+	(2	x	10)	+	9	
987	020=	900	000	+	80	000	+	7	000	+	20	=	(9	x	100	000)	+	(8	x	10	000)	+	(7	x	1	000)	+	(2	x	10)		
12	900=	10	000	+	2	000	+	900	=	(1	x	10	000)	+(2	x	1	000)	+	(9	x	100)		
908	045=	900	000	+	8	000	+	40	+	5	=	(9	x	100	000)	+	(8	x	1000)	+	(4	x	10)	+	5	
	
	
Exercice	2	p34	:	

a) 63	257	
b) 307	080	
c) 400	012	
d) 897	779	
e) 23	700	

	
	


